

# Positivity for an Evolution $p$ -Laplacian Equation\* 一类发展 $p$ -Laplacian 方程的正解

LING Zheng-qiu

凌征球

(Department of Mathematics and Computer Science, Yulin Normal University, Yulin, Guangxi, 537000, China)

(玉林师范学院数学与计算机科学系, 广西玉林 537000)

**Abstract:** The weak solution of the initial boundary value problem of evolution  $p$ -Laplacian equation  $\frac{\partial u}{\partial t} = \frac{\partial}{\partial x} (|\frac{\partial u^m}{\partial x}|^{p-2} \frac{\partial u^m}{\partial x})$  is discussed. It is proved that the weak solution is positive when  $m(p-1) > 1$  and  $t$  is large enough.

**Key words:**  $p$ -Laplacian equation, evolution equation, positivity.

**摘要:** 讨论一类发展  $p$ -Laplacian 方程  $\frac{\partial u}{\partial t} = \frac{\partial}{\partial x} (|\frac{\partial u^m}{\partial x}|^{p-2} \frac{\partial u^m}{\partial x})$  的初边值问题的弱解, 并证明  $m(p-1) > 1$ , 而且  $t$  足够大时弱解是一个正解.

**关键词:**  $p$ -Laplacian 方程 发展方程 正解

中图分类号: O175.29 文献标识码: A 文章编号: 1005-9164(2007)04-0342-03

## 1 Introduction

In this paper, we consider the evolution  $p$ -Laplacian equation

$$\frac{\partial u}{\partial t} = \frac{\partial}{\partial x} (|\frac{\partial u^m}{\partial x}|^{p-2} \frac{\partial u^m}{\partial x}) \quad (1.1)$$

In  $Q$  with initial-boundary conditions

$$u(\pm 1, t) = 0, \forall t \in (0, +\infty), \quad (1.2)$$

$$u(x, 0) = u_0(x), \forall x \in [-1, 1], \quad (1.3)$$

where  $p > 1$  and  $m > 0$  are two given real numbers,  $u_0(x)$  is a nonzero nonnegative continuous function in  $I = [-1, 1]$ , and  $Q = I \times (0, +\infty)$ .

Equation (1.1) appears in a number of applications to describe the evolution of diffusion processes, in particular non-Newtonian flow in a porous medium, see References [1, 2].

The quasilinear equation (1.1) is degenerate if  $p > 2$  or singular if  $1 < p < 2$ , since the modulus of ellipticity degenerates ( $p > 2$ ) or blows up ( $1 < p <$

2) at points, where  $\partial u^m / \partial x = 0$ , and so there is no classical solution in general. We consider its weak solutions here.

**Definition 1.1** A nonnegative function  $u(x, t)$  is called a weak solution of the problems (1.1)~(1.3), if the following conditions are fulfilled.

$$(1) u \in L^\infty(Q) \cap C(Q), \frac{\partial u^m}{\partial x} \in L^p_{loc}(Q),$$

$$(2) \int_{-1}^1 u(x, T) \varphi(x, T) dx - \int_{-1}^1 u_0(x) \varphi(x, 0) dx = \int_0^T \int_{-1}^1 (u \frac{\partial \varphi}{\partial t} - |\frac{\partial u^m}{\partial x}|^{p-2} \frac{\partial u^m}{\partial x} \frac{\partial \varphi}{\partial x}) dx dt,$$

for all  $T \in (0, +\infty)$  and all  $\varphi \in C(0, T; W^{1,p}_0(I))$  with  $\partial \varphi / \partial t \in L^p(Q)$ .

The existence of solutions of the problems (1.1)~(1.3) was reported in Reference [3]. And  $m = 1$ , the positivity of Equation (1.1) is discussed in Reference [4].

In this paper, our goal is to investigate the positivity of the solutions, and main results are obtained as follows.

**Theorem 1.1** Let  $u$  be a weak solution of the problems (1.1)~(1.3), if  $m(p-1) > 1$ , then there exists a time  $T$  such that  $u(x, t) > 0$ , for all  $(x, t) \in I$

收稿日期: 2007-05-14

修回日期: 2007-07-23

作者简介: 凌征球(1963-), 男, 副教授, 主要从事偏微分方程的研究工作。

\* Supported by the Natural Science Foundation of China (10626024).

$\times (T, +\infty)$ .

## 2 Fundamental lemmas

**Lemma 2.1** Let  $u$  be a weak solution of the problems (1.1) ~ (1.3), if the function  $v(x, t)$  satisfies

$$\frac{\partial v}{\partial t} \geq \frac{\partial}{\partial x} \left( \left| \frac{\partial v}{\partial x} \right|^{p-2} \frac{\partial v}{\partial x} \right),$$

$$v(x, 0) \geq u(x, 0), \forall x \in I,$$

$$v(\pm 1, t) \geq u(\pm 1, t), \forall t \in (0, +\infty),$$

then we have  $v(x, t) \geq u(x, t)$  for all  $(x, t) \in Q$ .

The proof is similar to that given in Reference [5].

**Lemma 2.2** Let  $u$  be a weak solution of the problems (1.1) ~ (1.3), then we have

(1) if  $m(p-1) > 1$ , then

$$\frac{\partial u}{\partial t} \geq - \frac{u}{(m(p-1)-1)t} \quad (2.1)$$

in the sense of distributions.

(2) if  $0 < m(p-1) < 1$ , then

$$\frac{\partial u}{\partial t} \leq \frac{u}{(1-m(p-1))t} \quad (2.2)$$

in the sense of distributions.

**Proof** Denote  $u_r(x, t) = ru(x, r^{m(p-1)-1}t)$ ,  $(x, t) \in Q$ ,  $r \in (\frac{1}{2}, 1)$ . Clearly,  $u_r$  is a weak solution of Equation (1.1) with the following initial-boundary condition

$$u_r(x, 0) = ru_0(x), \forall x \in I, u_r(\pm 1, t) = 0, \forall t \in (0, +\infty). \quad (2.3)$$

Using (1.2) and (2.3), we get

$$u_r(\pm 1, t) = u(\pm 1, t) = 0, \forall t \in (0, +\infty), \quad (2.4)$$

$$u_r(x, 0) = ru_0(x) < u_0(x), \forall x \in I, \quad (2.5)$$

and  $u_r(x, t)$  satisfies  $\frac{\partial u_r}{\partial t} \leq \frac{\partial}{\partial x} \left( \left| \frac{\partial u_r}{\partial x} \right|^{p-2} \frac{\partial u_r}{\partial x} \right)$ .

Applying Lemma 2.1, we have

$$u_r(x, t) \leq u(x, t), \quad (2.6)$$

for all  $(x, t) \in Q$ .

We consider the cases: (1)  $m(p-1) > 1$ , (2)  $0 < m(p-1) < 1$ , respectively.

(1) For  $m(p-1) > 1$ , let  $\lambda = r^{m(p-1)-1}$ , by (2.6) we know

$$\frac{u(x, \lambda t)^{m(p-1)-1} - u(x, t)^{m(p-1)-1}}{\lambda t - t} \geq$$

$$\frac{(\frac{1}{\lambda} - 1)u(x, t)^{m(p-1)-1}}{\lambda t - t} = - \frac{1}{\lambda t} u(x, t)^{m(p-1)-1}.$$

Let  $\lambda \rightarrow 1^-$ , we get

$$(m(p-1)-1) \frac{\partial u}{\partial t} \geq - \frac{1}{t} u(x, t),$$

in the distribution, which implies that (2.1) holds.

(2) For  $0 < m(p-1) < 1$ , by (2.6) we have

$$\frac{u(x, \lambda t)^{1-m(p-1)} - u(x, t)^{1-m(p-1)}}{\lambda t - t} \leq$$

$$\frac{(\lambda - 1)u(x, t)^{1-m(p-1)}}{\lambda t - t} = \frac{1}{t} u(x, t)^{1-m(p-1)}.$$

Let  $\lambda \rightarrow 1^+$ , we get  $(1 - m(p-1)) \frac{\partial u}{\partial t} \leq \frac{1}{t} u(x, t)$ ,

in the distribution, which implies that (2.2) holds.

Thus the proof is completed.

**Lemma 2.3** Let  $u$  be a weak solution of the problems (1.1) ~ (1.3), if  $m(p-1) > 1$ , then

$$\text{supp} u(\cdot, s) \subset \text{supp} u(\cdot, t)$$

for all  $s, t$  with  $0 < s < t$ .

The proof follows from Lemma 2.2.

## 3 Positivity of solutions

In this section we shall prove the theorem 1.1 and assume that  $m(p-1) > 1$ . In order to prove the theorem, we need the following lemmas.

Denote  $s_+ = \max\{s, 0\}$  for all  $s \in (-\infty, +\infty)$ .

**Lemma 3.1** Let  $u$  be a weak solution of the problems (1.1) ~ (1.3) and  $m(p-1) > 1$ . If  $u_0(0) > 0$  then there exists a time  $T^*$  such that  $u(x, t) > 0$  for all  $(x, t) \in (-1, 1) \times (T^*, +\infty)$ .

**Proof** Let us consider a Barenblatt-type solution<sup>[3]</sup> of (1.1)

$$E_{k, \rho}(x, t; x_0, t_0) = k \rho S(t)^{-1/\lambda_0} (1 - \frac{|x - x_0|}{S(t)^{1/\lambda_0}})^{p/(p-1)}_+^{(p-1)/(m(p-1)-1)}, \quad (3.1)$$

where  $k > 0, \rho > 0, t_0 > 0, x_0 \in (-1, 1)$  and

$$\lambda_0 = (m+1)(p-1), S(t) =$$

$$\lambda_0 \left( \frac{m \rho}{m(p-1)-1} \right)^{p-1} (k \rho)^{m(p-1)-1} (t - t_0) + \rho^{\lambda_0}, (t \geq t_0).$$

From  $u_0(0) > 0$ , it follows that  $u_0(x) > k, \forall x \in (-\rho, \rho) \subset I$  for sufficiently small constant  $k > 0$ .

Clearly, we have

$$\frac{\partial E_{k, \rho}(x, t; 0, 0)}{\partial t} = \frac{\partial}{\partial x} \left( \left| \frac{\partial E_{k, \rho}^m(x, t; 0, 0)}{\partial x} \right|^{p-2} \frac{\partial E_{k, \rho}^m(x, t; 0, 0)}{\partial x} \right), \quad (3.2)$$

$$E_{k, \rho}(x, 0; 0, 0) = k(1 -$$

$$\frac{|x|}{\rho})^{p/(p-1)}_+^{(p-1)/(m(p-1)-1)} \leq k \leq u_0(x), \forall x \in I, \quad (3.3)$$

$$E_{k,\rho}(\pm 1,t;0,0) = u(\pm 1,t) = 0, \forall t \in (0, T^*). \quad (3.4)$$

Where

$$T^* = \frac{1 - \rho^{\lambda_0}}{\lambda_0 \left( \frac{m\rho}{m(\rho-1) - 1} \right)^{\rho-1} (k\rho)^{m(\rho-1)-1}}.$$

By Lemma 2.1 and using (3.2)~(3.4), we get  $u(x,t) \geq E_{k,\rho}(x,t;0,0)$  for all  $(x,t) \in I \times (0, T^*)$ , which implies that

$$u(x, T^*) \geq 0, \quad (3.5)$$

for all  $x \in (-1, 1)$ . By (3.5) and Lemma 2.3 we get  $u(x,t) \geq 0$  for all  $(x,t) \in (-1, 1) \times (T^*, +\infty)$ . Thus the proof is completed.

**Lemma 3.2** Let  $u$  be a weak solution of the problems (1.1)~(1.3) and  $m(\rho-1) > 1$ . If

$$u_0(x_0) > 0, x_0 \neq 0, \quad (3.6)$$

then there exists a time  $T$  such that

$$u(0, T) > 0. \quad (3.7)$$

**Proof** Without loss of generality, we assume that  $0 < x_0 < 1$ .

From (3.6), it follows that

$$u_0(x) > k_0 = \frac{1}{2}u_0(x_0) > 0,$$

for all  $x \in (x_0 - \rho_0, x_0 + \rho_0)$  with some small positive number  $\rho_0$ .

Similar to (3.2)~(3.4), we have

$$\frac{\partial E_{k_0, \rho_0}(x, t; x_0, 0)}{\partial t} = \frac{\partial}{\partial x} \left( \left| \frac{\partial E_{k_0, \rho_0}^m(x, t; x_0, 0)}{\partial x} \right|^{\rho-2} \frac{\partial E_{k_0, \rho_0}^m(x, t; x_0, 0)}{\partial x} \right),$$

$$E_{k_0, \rho_0}(x, 0; x_0, 0) = k_0 \rho_0 S(0)^{-1/\lambda_0} (1 - \frac{|x - x_0|}{S(0)^{1/\lambda_0}})^{\rho/(\rho-1)} \frac{(\rho-1)/(m(\rho-1)-1)}{+} = k_0 (1 - \frac{|x - x_0|}{\rho_0})^{\rho/(\rho-1)} \frac{(\rho-1)/(m(\rho-1)-1)}{+} \leq k_0 \leq u_0(x), x \in (2x_0 - 1, 1),$$

$$E_{k_0, \rho_0}(\pm 1, t; x_0, 0) = k_0 \rho_0 S(t)^{-1/\lambda_0} (1 - \frac{|\pm 1 - x_0|}{S(t)^{1/\lambda_0}})^{\rho/(\rho-1)} \frac{(\rho-1)/(m(\rho-1)-1)}{+}.$$

From

$$1 - \left( \frac{|\pm 1 - x_0|}{S(t)^{1/\lambda_0}} \right)^{\rho/(\rho-1)} = 0,$$

we take

$$T_{01} = \frac{|1 - x_0|^{\lambda_0} - \rho_0^{\lambda_0}}{\lambda_0 \left( \frac{m\rho}{m(\rho-1) - 1} \right)^{\rho-1} (k_0 \rho_0)^{m(\rho-1)-1}},$$

$$T_{02} = \frac{|1 + x_0|^{\lambda_0} - \rho_0^{\lambda_0}}{\lambda_0 \left( \frac{m\rho}{m(\rho-1) - 1} \right)^{\rho-1} (k_0 \rho_0)^{m(\rho-1)-1}}, \quad (3.8)$$

$$T_0 = \min\{T_{01}, T_{02}\}.$$

then we have

$$E_{k_0, \rho_0}(\pm 1, t; x_0, 0) = u(\pm 1, t) = 0, t \in (0, T_0).$$

By Lemma 2.1, we get  $u(x,t) \geq E_{k_0, \rho_0}(x,t;x_0, 0)$  for all  $(x,t) \in (2x_0 - 1, 1) \times (0, T_0)$ , which implies

$$u(x, T_0) > 0, \quad (3.9)$$

for all  $x \in (2x_0 - 1, 1)$ .

If  $x_0 < \frac{1}{2}$ , then by (3.9), we have (3.7).

If  $x_0 \geq \frac{1}{2}$ , we define  $x_1 = x_0 - d_k$ .

Where  $x_0 > d_k = \frac{1}{k}(1 - x_0) > 0$  and  $k > 2$  is a positive integer.

Similar to (3.9), there exists a time  $T_1$  such that

$$u(x, T_0 + T_1) > 0, \quad (3.10)$$

for all  $x \in (2x_1 - 1, 1)$ .

If  $x_1 < \frac{1}{2}$ , then by (3.10) we have (3.7).

If  $x_1 \geq \frac{1}{2}$ , we define  $x_2 = x_1 - d_k = x_0 - 2d_k$ .

Similar to (3.9), there exists a time  $T_2$  such that

$$u(x, T_0 + T_1 + T_2) > 0, \quad (3.11)$$

for all  $x \in (2x_2 - 1, 1)$ .

Repeating the above process, we can find two positive integer  $n^*$  and  $k^*$  such that  $x_{n^*} = x_0 - d_{k^*}$ ,  $-1 < 2x_{n^*} - 1 < 0$  and  $u(x, T_0 + T_1 + T_2 + \dots + T_{n^*}) > 0$  for all  $x \in (2x_{n^*} - 1, 1)$ . Thus the proof is completed.

**Proof of theorem 1.1** From Lemmas 3.1 and 3.2, there exists a time  $T$  such that  $u(x, T) > 0$  for all  $x \in (-1, 1)$ . By Lemma 2.3, we have the conclusion of Theorem 1.1. Thus the proof is completed.

#### References:

- [1] MARTINSON L K, PAPLOV K B. Unsteady shear flows of a conducting fluid with a theological power law [J]. Magnit Gidrodinamikia, 1970(2): 50-58.
- [2] LADYZENSKAYA O A. New equation for the description of incompressible fluid and solvability in the large boundary problem for them [J]. Proc Steklov Inst Math, 1967, 102: 95-118.
- [3] WU Z, ZHAO J, YIN J, et al. Nonlinear diffusion equations [M]. Singapore: World Scientific Publishing Co Pte Ltd, 2001.
- [4] YUAN H. Extinction and positivity for the evolution  $p$ -Laplacian equation [J]. J of Math and Appl, 1995, 196: 754-763.
- [5] DIBENEDETTO E. Degenerate parabolic equations [M]. New York: Springer-Verlag, 1993.

(责任编辑: 邓大玉 蒋汉明)